
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Aluminum Profile Triangle Bracket 

M1B-W1150 

Installation Instructions 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
- 1 - 

 

 

 

Contents 

 

Section 1-Safe Guard Instruction  ................................................................ 3 

Section 2-Introduction of Triangle Bracket Mounting System  ..............  4 

  ........................................................................................................   

   ......................................................................................................  

   ............................................................................................   

Section 3-Installation procedures  ................................................................  7 

  ...............................................................................   

         ................................................   

       ...............................................................   

      .........................................................................   

     ....................................................................   

Section 4-Final process of assembly  ..........................................................  11 

    ............................................................................   

   ....................................................................................   



 

 
- 2 - 

 

 

 

 

Section 1-Safe Guard Instruction 

 

 Warning 

             

       

                

               

 

                    

    

           
 

    

           

  

                       

 

            

 

                  

            

          

               

          

             
 

     



 

 
- 2 - 

 



 

 
- 3 - 

 

 

 

 

Section 2-Introduction of Triangle Bracket Mounting System 
 

 

Product 

 

Aluminum Profile Triangle Bracket    M1B-W1150  

 

Application 

 

Ground/ Roof/ Guardrail 

 

Tilt Angle 

 

10°- 15° 

 

Material 

 

AL6005-T5/SUS304 

 

Panel Layout 

 

Landscape 

 

Max PV width 

 

1150mm 

 

Design Standard 

 

AS/NZS 1170, DIN 1055, JIS C8955: 2017, International Building Code IBC 200 

 

Warranty 

 

10 year 

 

Package 

 



 

 
- 3 - 

 



 

- 4 - 

 

 

 

 

Parts List 

 

  x     x  

  

   *  x     x  

  

     x       *  x  

 

 

 

   *  x     *  x  

 

 

 

 

      x     x  

 

 
 

    x    x  



 

- 4 - 

 

 

 

                

 

 

 



 

 
- 5 - 

 

Effect drawing 

 

  

 

 

  



 

 
- 6 - 

 

 

 

 

Section 3-Installation procedures
 

Pre- installation chapter 
 

 

 

 

 

 

     

      

                   

     

         

 

     

                     

   

bolt 

 

 
 

  

Step 1 -  Install the beam and bottom beam 

               

       

 

 

 

 

 

 

 

 

 

 

  

 



 

 
- 6 - 

 

 

 

 

M8*60 bolt set 

 



 

 
- 7 - 

 

Step 2- Install the telescopic rod 

                 

    

 

                     

          

 

 

 

M8*55 bolt set 

 

 

 

 

 

 

 

 

 

M8*55 bolt set 

 

 

 

 

St 6.3*25 

 

 

St 6.3*25 

 



 

 
- 7 - 

            

 

 



 

 
- 8 - 

 

Step 3- Install solar panels 

             

 

 

                 

 



 

 
- 8 - 

 



 

 
- 9 - 

 

C.                    

 

 

 

 

Step 4- Optional installation 

                 

               

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
- 9 - 

 

 

 

 

 

 

M8*55 bolt set 

 



 

 

 

 

 

 

               

             

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

M8*95 bolt set 

 



 

 

Tips:                

             

 

 
 

SS304  A2-70  Bolt torque recommendation table 

Bolt Specifications Recommended torque value  N.M  

M8 8- 10 

M10 18-20 

M12 50-55 

M14 70-75 

M16 90-95 

 

 

 

 

 

- 10 - 



 

 
- 1 - 

 

 

Section 4-Final process of assembly

 

    

 

 

 

 



 

 
- 1 - 

 

 

 

 

 

 

 

 
 

Tips for Bolt Installation 



 

 
- 1 - 

     

                                

                 

          

      

                

                           

                       

       
 

   

              

                 

     
 

   

                

 

             

        

                

              

      

              

             

 



 

- 2 - 

 

 

 

 

 

 

Check after installation 

                 

  

         

           
 

           

           

         

Warning:  It needs to check structure condition of mounting system before wiring.  

                  

         

 

Daily maintenance 
 

    

        

 

                 

 

 

 

 

 

 

 

 

 



 

- 2 - 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


